## North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.106715 & 3RE.206715
Long-Arm Mowing along Primary & Secondary Paved Routes and in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000100000-N	800	MOBILIZATION	1	LS	10,000.00	10,000.00	7
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	1,000.00	3,000.00	·
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	1,000.00	3,000.00	,
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	129.18	SMI	219.00	28,290.42	1
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	387.18	SMI	219.00	84,792.42	\

TOTAL BID FOR PROJECT:

## 

129,082.84

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance,

Bonds, and Contract Execution)	
Name_noah Saunier	
Email_noah@dangradyco.com	
Phone 828-506-0112	
THIS SECTION TO BE COMPLETED BY NORTH CAROLI DEPARTMENT OF TRANSPORTATION	
This bid has been reviewed in accordance with Article 103-1 of the Standard Specific for Roads and Structures 2024.	cations
eviewed by NCDOT	2-25
ccepted by NCDOT	17/2025
V	

# North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.106715 & 3RE.206715
Long-Arm Mowing along Primary & Secondary Paved Routes and in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	1000.00	دن. دندا
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	2041.58	6124.74
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	100.00	300.00
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	129.18	SMI	278.W	35912.04
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	387.18	SMI	9U8·M	107636.04

TOTAL BID FOR PROJECT: 150,972.82	
CONTRACTOR L+ S Fred, Fic ADDRESS 2847 Richy Hole Rd, Eduhy, Nr 2 Federal Identification Number 84-3868132	17432
Contractor's License Number	
Authorized Agent May Landen Title Me president Signature Date 7/6/25	CORPORATE SEAL 2018
Witness Sudulayide Title Secretary	Control of the second of the s
Signatural D. A. A. W. (2)	

	ntact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Contract Execution)	
Name	Sinchalayder	
Email	Slayler Prop Co yahos. Com	
Phone	252-333-10378	
This bid has  Reviewed by NCDOT	DEPARTMENT OF TRANSPORTATION been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.  Date 7-17-25  Date 7/17/2075	

# North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.106715 & 3RE.206715 Long-Arm Mowing along Primary & Secondary Paved Routes and in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	The same of the sa
1	0000100000-N	800	MOBILIZATION	1	LS	\$1000.00	\$1000.00	1
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$300.00	\$900.00	
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$300.00	\$900.00	
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	129.18	SMI	\$218.00	\$28,161.24	
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	387.18	SMI	\$207.00	\$80,146.26	

## TOTAL BID FOR PROJECT: \$117,107.50 \$ 111,107.50

CONTRACTOR PLCL Contracting LLC		
ADDRESS P.O. Box 282 Ayden, NC 28513		
Federal Identification Number 83-3822763		
Contractor's License Number N/A		211111111111111111111111111111111111111
Authorized Agent Maria Rogerson	<sub>Title</sub> Manager	CONTROL SEAL SEAL
Signature Maria Regusar	Date 7-14-2025	SEAL
Witness Sherri Taylor	Title Office Admin	North Caroline
Signature Sh. Tanh	<sub>Date</sub> 7-14-2025	William Will

6-1-9

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)	
Name Maria Rogerson	
Bonds, and Contract Execution)  Name Maria Rogerson  Email plclcontractingllc@gmail.com  Phone 252-746-1030  THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION  This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.  Reviewed by NCDOT Alms Banks  Date 7/72025	
Phone 252-746-1030	
THIS SECTION TO BE COMPLETED BY NODTH CAROLINA	
DEPARTMENT OF TRANSPORTATION	
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications	
Mr. Be	
Accepted by NCDOT THE TITLE 2025	

# North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.106715 & 3RE.206715 Long-Arm Mowing along Primary & Secondary Paved Routes and in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$500,00	\$500,00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	#3000	\$9 FM 30
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$300,00	#9w,02
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	129.18	SMI	#205°	#26,481,90
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	387.18	SMI	\$205,00	#79,371,90

TOTAL BID FOR PROJECT: \$108,15380	
CONTRACTOR ALL SOUICES, LLC  ADDRESS 1809 Neugent De Kernersville NC 2084  Federal Identification Number 33-13745400	
Contractor's License Number	
Authorized Agent LENCE MENIN Title QUNET  Signature 2011 M. Date 7-10-25	CORPORATE
Witness Tunua Belle Title Witness	
Signature Jorya Belle Date 7/16/25	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)
Name PENCE MEUN
Email JAYRSONICOS LLC EGNOIL COM
Phone 336-307-6209
THIC SECTION TO BE COMPLETED BY NO DAY S. D.
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications
The standard Specifications
for Roads and Structures 2024.
for Roads and Structures 2024.
for Roads and Structures 2024.

## North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.106715 & 3RE.206715 Long-Arm Mowing along Primary & Secondary Paved Routes and in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000100000-N	800	MOBILIZATION	1	LS	\$500.00	\$500.00	
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$100.00	\$300.00	
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$100.00	\$300.00	
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	129.18	SMI	\$204.00	\$26,352.72	
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	387.18	SMI	\$204.00	\$78,984.72	

TOTAL BID FOR PROJECT: \$106,437.44

Witness

# CONTRACTOR JMC Clearing & Mulching LLC ADDRESS 4959 Harrison Phelps Rd. La Grange, NC 28551 Federal Identification Number 85-1829790 Contractor's License Number 119583 Authorized Agent Jaime H. Moore Title member/owner SEAL Signature Date 7-14-2025

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insura Bonds, and Contract Execution)	nce,
Name_Jaime H. Moore	
Email_jaimeharrisonmoore@gmail.com	
Phone 252-559-9960	
THIS SECTION TO BE COMPLETED BY NORTH CAROLI	JA
DEPARTMENT OF TRANSPORTATION	·A
This bid has been reviewed in accordance with Article 103-1 of the Standard Specific	cations
for Roads and Structures 2024.	
Reviewed by NCDOT Sold Date 77-17	2025
Accepted by NCDOT Julia Mark Date 7/	17/2025

### North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.106715 & 3RE.206715
Long-Arm Mowing along Primary & Secondary Paved Routes and in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$5000.00	\$ 5000.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$ 2500.00	\$ 7500.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$ 1500.00	\$4500.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	129.18	SMI	1485.00	\$62,652.30
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	387.18	SMI		\$ 174, 23/.00

	6136000000-E	SP	SECONDARY ROUTES, (PAVED)	387.18	SMI <b>#</b>	450.00	\$ 174, 2	3/.
	TOTAL	BID	FOR PROJECT:	25	3,88	3.30		
			RO Enterpe					
A	DDRESS 41	32	Atlanta Hig	LWAY	Suit	E-110-317		
	Gederal Identification		er 120558 Vendo					
C	contractor's License	Number	el 100 ) you vare o				BARO	
	Authorized Agent	156	sony Ofmand- How Tit	le <i>CE</i>	0_	000	2020 S	
	Signature	3		ite 7-/4		300	CHECKE	
	Witness		De Tit			J'ill	Manithia.	
	Signature Mg	, ca	Tops Da	nte 7-14-7	25	HILL HILL	ERPA	6

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)
Name Loony Ormond-Ham
Email
Phone 404-509-1990
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications
for Roads and Structures 2024.
Reviewed by NCDOT Date 7-17-15
Accepted by NCDOT JAH MAN Date 1/17/2025